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#(1,2),(1,3),(1,4),(1,5),(23),(24),(26),(3.5),(3,6),(4,5),(4,6),(5,6) # 48

#6-11 (476,12) #6-11 (4°3) #6-11 (474,9) #6-11 (473,5) #6-11 (4)

##4.4,4,6,6,6.6
*17-12-4%29-11-3*58-10-6%15-216-3*28-4310-4*59-7611-7*812-111012-9
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«Slip to A B (K6-132)= Matveev (M6-68B), ] B (K6-161) = Matveev (M6-68A)

BHEOES: K31 U K1/ |

Seifert # & : M (S, (2,1),(2,-1),(2,1),(2,-1))
H(M) : Z. X Z. X Z
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Aut (K6-162) = Z. ?

(K6-162)
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K6-162 : (1) T A (4,12,7) | = {%¥ (K6-161) &
K6-162 : (2) T A (3,11,:9) | = % (K6-132) &
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